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1 182 # M =l &R W raEE =28 (3F) 24.00
2 109 # M i 55 BmE =28 ) 24.35
3 657 & [ SES - MReAE =28 (14) 24. 36
4 639 # M FEBEANE MeEE =21 34F) 24.73
5 167 # [ 8]R MK JEMATE =28 (24F) 24.75
6 584 %% [ #HRK Bx TH =2 Q%F) 24.95
7 313 % M XA LE #hE =28 (24F) 25.05
8 2714 & ™ BT Bx P2 N =28 ) 25. 06
9 443 & @ RN BEN BEME =28 (3F) 25.14
10 820 # @ WA R g ch g =28 ) 25.16
11 153 % M@ BH EH S = 34F) 25. 24
12 645 % [ % H#E MeEE =2 Q%) 25. 26
13 408 # [@ 2L EBH i =28 ) 25. 36
14 893 & @ EFa RE EMREH =2 Q2%F) 25.53
15 56 & M £ ME JEMERR =28 3F) 25.55
16 574 & @ AEH BN FE =2 Q%) 25.55
17 172 % @ TH #X B4R AL =2 (14F) 25. 62
18 646 % M@ HEZE MR MeEE = %) 25. 69
19 118 & M@ R FORK aEme =28 (14) 25.72
20 267 %% M " #HWE Pid N =1 3F) 25.73
21 197 & & Xk o EMT =1 (3%F) 25.74
22 85 # M fhE HX R IL =R (045F) 25. 87
23 224 & @ 2/ kR JEMARS =28 3F) 26. 02
24 41 % H il =& FE#ME =R (045E) 26.13
25 231 & m EH BER JEMAES =28 (24F) 26.18
25 867 #H# M BK B3 BE =1 GHF) 26.18
27 2 B M| HR X SEMYBR =28 (35F) 26.19
28 368 % M mABR E =1 GHF) 26. 30
29 163 #% M R A JEMATE = Q%) 26. 33
29 317 & ™ #HRK KX RN =1 GHF) 26. 33
31 107 % & ER R Eme =28 (35F) 26. 34
32 205 # M W PR ENT =1 GHF) 26. 36
33 318 % M TR K JEMER =28 (345F) 26. 37
34 258 & @ #®HAR FER EMGHER =R 05E) 26. 40
35 173 & & R B JEMATE =2 (4F) 26. 42
36 209 # @ FiF His EMT = 2%F) 26. 46
37 252 & M SH AR JEMGHE =28 (24F) 26. 49
37 515 & @ F1l ; BXK=E =R 05E) 26. 49
37 517 % M 1Bk BIK BX=8 =28 (14) 26. 49
40 372 & ™ Hf 4t iE =R QHE) 26. 56
41 572 &% @ 5 EH FE =1 34F) 26. 57
42 152 &% & BEE Bt EMEIT =28 (34) 26. 58
43 550 % M gk KE EL =2 Q2%F) 26. 62
44 354 #H# Mm@ HE SR R[H =2 (24F) 26. 65
45 766 F% M R B BT =2 Q2%F) 26.73
46 720 # M Hk &KX ELTER =R 05E) 26. 75
47 470 &% @ WH 155 FERNEOE =1 34F) 26. 76
48 16 % g (S EMBIE =28 (148) 26.79
49 506 & M =A &3 BX=8 =28 (3F) 26. 81
50 553 & M@ N F Et =2 (24F) 26. 83
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51 706 # M IA B|A EELE =28 (24F) 26. 86
52 2 %% M XH EE EMTAL =2 Q8F) 26. 97
53 276 & @ JFED ASRK JEMARR =28 (24F) 26. 99
54 230 % M 7l RRiE PN = vE:D) 27.03
55 134 % M@ EO X aEmit =28 (35F) 27.07
56 206 % M@ BEH mE EMT =21 34F) 27. 11
57 666 & @ R EiE EtHi =28 (3F) 27.12
58 47 #H M N2 RAE LS =% (35F) 27.19
59 580 # @ TLIEHRAER TH =28 (14) 27.26
60 29 # M TE kig JE#ME =28 ) 27.34
60 768 ¥ M wmay £ A =2 (4F) 27.34
62 511 & @ ¥H # BX=8 =2 Q%) 27.38
63 226 & M FiE Gl ENE =1 34F) 27.39
64 913 % M tE AKX $Ly° f =2 Q2%F) 27. 45
65 775 % KB EK HiERME = (14F) 27. 46
66 5 # @ =i K& EMBIE =2 Q%) 27.59
67 44 FH M| HRELh EME =2 (24F) 27. 61
68 730 # M@ B OED R = (35) 27. 61
69 138 # TH EH fEmit =8 (14) 27.64
70 513 % [ B HE BXK=E =2 Q%) 27.65
71 881 #H# M fEok K | =2 (14F) 27. 67
72 748 # M N EdES =1 3F) 27. 68
73 328 #H# M WFE X JEMER = (24) 27.69
74 282 & @ E¥ B Pid N =R (045E) 27.70
75 137 # M MR RE aEmi = Q%) 27.72
76 918 & @ BE A BX=8 =R 05E) 27.74
77 880 & m JNKHRAER B4 @ =2 (4F) 27.76
78 3B # M ARBHLRE EME =R 05E) 27.80
79 148 & & KEF HE ENMEIE T = Q%) 27.82
80 139 # M Rk BR Zmir =R 05E) 27.83
81 204 & Mm@ & %3 JEMT = 34F) 27. 84
82 108 % M AT BmE =1 GHF) 27. 87
82 150 # M@ R FK EHE R =28 (345F) 27. 87
84 202 & @ WA EE ENMT =1 GHF) 27.90
85 155 %% [ EEHHLEER EMEAL T =% (2%F) 27.98
86 682 %% M PO T N ) HALBE = 3F) 28.01
87 19 # @ i BE SEMYBR =28 (14) 28.03
88 132 # M #}BK HKX Zmir =1 GHF) 28.05
88 386 F M B SE JEMMER =28 (3F) 28.05
90 208 & @ BE ¥ EMT =2 (24F) 28.07
91 696 & @ 1E% #X Etx=4 =2 Q2%F) 28. 11
92 247 & [ WH s JEMGHER =1 GHF) 28.12
92 249 &% @ R BX JEMGHE =28 (3F) 28.12
94 315 % M FHK EHE #hIIE =R 05E) 28.13
94 841 & m #HRK XH BN R =2 (14F) 28.13
96 716 % H HH BB ELTER =1 GHF) 28.16
97 37 % M mR S E =2 Q2%F) 28.17
98 n#H | R IKEE EMTHIL =2 (24F) 28.19
99 425 & @ KILE £ i =28 (14) 28.23
100 77 #H M e &t EMTHIL =2 (24F) 28.29
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101 350 & EA BEE ®H =% 2%F) 28.31
102 683 # & s ISR MILBE = (36F) 28. 31
102 914  # BB EX $uy 1 =% 2%F) 28.31
104 4112 % & HAFTFI A B P = QF) 28.43
105 698 % [ EXKEZR ELrEL =% 2%F) 28. 45
106 300 # M@ w B EHR = QF) 28. 46
107 2718 &% [ RIGRIAEA BN =R (24F) 28.47
108 537 # M FrHi A —BA FET = QF) 28.49
109 172 &% [ EAREZ T =% (146) 28. 51
110 306  # M LS 7 EHR = (14) 28.58
m 284 & @ & B# PN = (14) 28. 60
12 170 % F& EE FE2 RN = QF) 28. 62
12 389  # [ =M & AR = (24F) 28.62
114 194 # | BmE & RAB = (36F) 28.67
115 214 % & HH EH EMT =% (14) 28. 68
116 583 & & AT XK TH = QF) 28.69
17 290 % & R BE EMIZS = (14F) 28.71
118 165 %% Fd Fi NI R RN = QF) 28.79
119 39 # [ Bk B A =% (14) 28. 88
119 699 & @ =% &3 Et=i = QF) 28.88
121 375 & & =F R# HiE =% (14) 28. 89
122 554 & @ F KA Bt = (14) 28.94
122 770 # M| Ry #qn FpRE AL =% (14) 28. 94
124 593 # M@ R FEX TH = (14) 28.95
124 618 & [ 2R i &R = 2F) 28.95
126 212 &% & % =8 R = (14) 28.98
127 393 # & fHE R AR = (14) 28.99
128 565 A% [ Ml =X g = (36F) 29.00
129 146 #% @ BER KB BRI T = Q) 29.02
130 509 & & P N: BXR=5 = QF) 29.04
131 902 # & BERAH Pl = (14) 29.05
132 385 # [ hME BE AR = (36F) 29.08
133 15 # & IREZ B ERAK = (14) 29.15
133 263 7 [ HO E& PP i = (36F) 29.15
135 159 #% @ K5 HEH BRI T = 2F) 29.20
136 264 7 [ BRK R%E PP i = (14) 29.22
137 480 #H [ ik =8 PN Bl = (14) 29.23
138 822 # & BX i iR R = (36F) 29.24
139 842 # [ R R HKEA R SE:) 29.25
140 792 %% M ARE 2 Yk e A = (146) 29.35
141 871 # M Bt BE B =i Q%) 29.38
142 215 &% [ AiE BEX ERT = (146) 29.40
142 457 # [ AR A EIRE = (14F) 29.40
144 870 # & HBREXE Gl = () 29.43
145 906 # Rk wA PRl SE:) 29.51
146 617 # & by L P S B = 2%F) 29.52
147 606 FF fE sl —H ELI® =i Q%) 29.53
148 475  # [ M &8 AL = 2%F) 29.54
149 296  # @ *ME Y T SE:) 29.55
149 756 #% @ &5 HR FPREIR = (14) 29.55
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151 40 # E ia —E A =% (146) 29.57
151 397 # all ® P2 N = (14) 29.57
153 246 % [ niF K3z AR =% (34F) 29.59
154 586 & [ HER/ B TH =% (24F) 29. 60
155 456 % [ i BRAE EIIHRE =% (146) 29. 62
155 665 # [ thE EBF Exi =4 (34F) 29.62
157 g # M| AR —BA ELTER =R (24F) 29. 64
158 135 & [ #E RX Em|it =4 (34F) 29. 68
158 612 % & BAX #KX EIE = (14F) 29. 68
160 474 # & SHENN EEAL =% (24F) 29. 7
161 876 & A 183 FRRE = (14F) 29.72
162 251 & @ E NI N R = (36F) 29.75
163 445 B [ NMAR # LmE = (14F) 29.76
164 349 & B’R =7 KA = QF) 29.79
165 283 B [ AR HE BN = (14F) 29.88
166 257 & & & WX R = (14) 29.99
166 400 # & AT =X AR = (14F) 29.99
168 585 & Rk =X TH = QF) 30.06
169 377 & & £y S HiE = (14F) 30.08
170 136 %% fE E=F ) Zmik = QF) 30. 11
171 450 # [ He i EIRE = (35F) 30.17
172 158  # [ HE M EREALT = QF) 30. 21
173 AW &N s P = (24F) 30.22
174 672 & & TE i Bt = (1) 30.23
175 319 # ak A HiE = (14) 30. 24
176 M1 & @ W HEGRE B4 =4 (24F) 30. 25
177 Mm% & NI R BN Bl = Q) 30.26
178 453 % & wF BB EIRE = QF) 30.30
178 455 # [ M RB BIIHRE = (14F) 30. 30
180 91 & & 2B =&E Yl e A = (14) 30. 31
181 815 # [ INRHEEE B a =% (24F) 30.32
182 758 & & 0BHE BR FRREI 3R = (1) 30. 36
183 213 % & K &E EMT = (14) 30.37
183 473 # & B K AL = QF) 30.37
185 254 B [ s # R = (14) 30.38
186 151 #% M@ Ak Eil EREALT = (36F) 30.39
187 83 # f 2l K— T = (14) 30. 42
188 685 F [ Nt B MiLiA#E = QF) 30.43
189 900 % INE OEA Rk 0] =i Q%) 30. 54
190 369 [ FHR EiK wiE =% (34F) 30.57
191 217 % & #E LB EMT SE:) 30. 60
192 133 & [ b=1=: I 71 EHEIt =% (34F) 30. 67
192 894 # @ BE K& PRl =i Q%) 30. 67
194 882 # [ M — Bl = (146) 30.70
195 314 # XE HE BIIR = (14F) 30. 71
196 ni & M AT A/ ELXER =% (24F) 30. 74
197 " & #E ik ERAK SE:) 30.75
197 18 %% M BE B EWRBIE = (146) 30.75
197 253  # @ REYl BT R =i Q%) 30.75
200 161 & A HE #X EREALT = 2F) 30. 80
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200 706 ## M@ BH KH EEE =% 2%F) 30. 80
202 501  # [ Bk R TH SEE:S) 30. 81
203 704  # & MOV EST EEfE =R (24F) 30.83
204 413 # ik HE ] = QF) 30. 84
205 581 # [ NI BXR TH = (24F) 30. 86
206 396 # e P2 N = (14) 30. 91
207 605 F [ B EA EIE =% (34F) 30.92
208 47 # M| e e AL = (14) 30. 94
209 275 &% [ R RE BN =% (34F) 30.98
210 668 & [d R BEH Bt = QF) 31.07
21 896 # [ ma W HMEE il = (24F) 31.08
212 398 # M@ TR Mt P2 N = (14) 31. 14
213 854 # [ 2l B B = = (14F) 31.17
214 3713 & T EX wE = QF) 31.20
215 793 # & B K Il e A R =% (14) 31.22
216 192 #% fE FRIE &K BT = (14) 31.28
217 452 %% [ 2R ®|ZE BIIHRE =R (34F) 31.30
218 391 & AR &% P N = QF) 31.43
219 839 # [ TE =N kA E = (14F) 31.47
220 48 & M R EAs ENE = (14) 31.53
220 582 # & EERERER TH =R (24F) 31.563
222 548 # EfR #HE Bt = QF) 31.54
223 367  # [ N #wxX nE = (35F) 31. 61
224 156  # [ &8 EIE EREALT = QF) 31.69
224 479 % & Ak EE AR = (14) 31.69
226 879 # & EA B B = (14) 31.77
227 ny & M| & 8k ELER = (14) 31.80
228 357 # & R4 EEER K4 = QF) 31.82
229 697 # [ FERE InE Et=i = %) 31.89
230 310 &% & RE K #HIIR = (36F) 31.92
231 296 B [ ANHE HERL pi ki = (14) 31.97
232 248 # [ R R = (36F) 32.01
233 210 # [ =iE & EMT = 2F) 32.02
234 42 # HE A FiE ENE = (14) 32.04
235 616 # [ FH Ef &R = Q2F) 32.08
236 356 # & AliE—H K = QF) 32.13
237 164  #% @ nE R = Q) 32.16
2317 860 F [ RHEBRK KT = QF) 32.16
239 874 # [ (1T B =i Q%) 32.18
240 596 #% [ o TH = (146) 32.22
241 307 # M@ 'R R LBHR SE:) 32.34
242 285 #% [ all EE& ENE = (14) 32.38
243 298 # @ e BA LHR =i Q%) 32.50
243 358 # & KB H#H KRt = 2%F) 32.50
245 21 # | EIEE AR el = Q6F) 32. 51
246 505 &% & BE mX TH = (146) 32.53
246 878 # [ R HiE B SE:) 32.53
248 392 # & K K5 AR =% (24F) 32.58
249 140  # @ Al [BE Zmik SE:) 32.59
249 814 %% & 2R &K B g = 2F) 32.59
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251 259 % [ wmH &3 AR = (14F) 32.63
251 729 # M| g AR S = (36F) 32.63
253 370 &% & BARREZNT wiE =% 2%F) 32.72
254 622 # [ =@ ME B SEE:S) 32.93
254 909 & FiE B R 530 = (146) 32.93
256 671 & & e b Bt = (14) 32.95
257 686 F [ ;A mE MiLiAE = (14F) 33.07
258 353 # ml 84 = QF) 33.12
259 454  # @ 1T 2 EIHRE =% 2%F) 33.14
259 592 # & % AKX TH = (14) 33.14
259 908 [ wmAR A Pl = (14F) 33.14
262 898 & g BNl thER ERRe 25 3] = QF) 33.35
263 478 # & =TF BE AW = (14F) 33. 39
264 4 # | BEFWHT 4 AL = (14) 33.44
265 399 B & R AR = (14F) 33.48
266 57 # | ME E FRIE R = (14) 33. 61
267 458 # M@ a5 iE BIHE = (14F) 33.73
268 569 & @ HiE #XK pIEF = (14) 33.96
269 312 %% & Al KiE #IIR = (24F) 34.10
270 316 # M nA it #®I= = (14) 34. 21
271 587 # & AR B4 TH =R (24F) 34. 217
272 297 # @ TH XZF BHR = QF) 34.39
273 301 & | ER EBHER =R (24F) 34.48
274 863 # rig —& B R = QF) 34.50
275 568 & [ TE 165 pIEH = %) 34.55
276 374 # & FHEFE_R wE = (24F) 34. 67
276 451 % [ Wi e BIHRE = Q) 34.67
278 620 7 & FH X B = (14) 34.74
279 789 ## M@ mf fE Yl R A% I = (14) 34.94
280 506 #% [ Ml X Bt = (14) 35.18
281 625 # @ mE B &R SE:) 35.30
282 376 # & R EA wE = (14F) 35.35
283 551 & @ BRI =t = %) 35.58
284 669 & [ WNHE s Bt = QF) 35.59
285 559 & @ N &R Ex = (14F) 35. 64
286 89 & FE AR EBE NI = (14) 35. 67
287 303 # & BE K& LBAR = (14) 35.76
288 708 # & B#H# #EA EEE = (14) 36. 17
289 481 # @ FIL #hth PN Bl SE:) 36.20
290 816 & & ASE ALK ERmia = (146) 36.25
291 710 # @ INSETRBE A EEE = (14F) 36. 58
292 250 #% [ Fi o NI P2 VNS =% (34F) 36. 61
293 700 & M@ £ HE Et=i =i Q%) 36.75
294 nm  # | =k BF =& = (14) 36. 80
295 709 &% M@ BE B EEE SE:) 37.97
296 191 # M@ wE BE BT = (146) 38.09
297 823 # R0 Ekh iR =i Q%) 38. 14
298 621 # & Fith EX B = (146) 38.20
299 594 # & NI RER TH SE:) 38.38
300 3718 # & nk K& wiE = (14) 39. 61
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301 619 & M KEF W, IR =2 (15F) 42. 44
302 899 # M FiE =4 Fls B (2%F) 42.62
303 904 #H# M ZH ME Rl HE =2 (145) 45.17
304 299 #% M ]| E BHE B (2%F) 48. 65
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M- 190
& #%No. m B K % T & B fCER
1 4 # M all xXE SEMYA A =8 02F) 52.00
2 573 # oA B FE = vE:D) 52. 44
3 782 # & =L 3 R % R =8 GF) 53.00
4 67 & M Kk &EB JEMATIAL B2 (35F) 53.23
5 104 & M@ R BE EmE =8 GFE) 53. 51
5 639 & @ FREEKER MeAe =28 () 53. 51
7 109 # HE Eicl N Eme =8 GFE) 53. 54
8 114 % & #a B Eme =8 Q2F) 53.58
9 273 & [ INK B JEME =8 GFE) 53.92
10 645 # & % BE Meae = vE:D) 54.16
11 657 & [@ LS AH = (E) 54. 44
12 647 & @ WA FzZ Meae =28 (24F) 54,52
13 790 %% & #HAR FH W ER =28 (14) 54,58
14 753 8% & H EH BER =28 (3F) 54,76
15 653 & @ Rt HEHE MeH =8 (E) 54,97
16 408 & @ #ZIlL B EZ =28 (3F) 55.19
17 893 # @ EFa RE EHEER =8 02F) 55. 95
18 18 #% M 5 R BmE =R (045F) 55. 97
19 274 & @ BT Bt JEMAE =1 35F) 56. 06
20 267 F M " #HWE JEMAE B2 (35F) 56.12
21 646 & @ HEE AR MeH =8 02F) 56. 31
22 788 &% M FRIRIRHEA W ER = (24F) 56. 38
23 574 # & AHB BN BE =8 02F) 56. 65
24 772 &% M| EH O OHX B4R ThaL B (1) 56. 66
25 467 # HE ] &R )bk =12 (35F) 56. 70
26 56 &% @ A5 B JEMNEERR =28 (3F) 56. 98
27 515 & @@ HL B BAX=8 =8 (FE) 57.17
27 1 B E g & EE=R =28 (34F) 57.17
29 572 # M BE 2 BE =8 (34F) 57.22
30 36 E M S EXK EMAE B (1F) 57.28
31 231 # M EH BER SEMAES =8 02F) 57.39
32 206 & M W PR EMT B (34F) 57.71
33 317 # ™ #Rk KX JEMVER =8 (34F) 57.77
34 354 &% M@ HE =W KH =28 (24F) 57.80
35 500 & @@ s K BAX=8 =8 (34F) 57.83
36 506 & [ =B i\ HXK=ZE =8 GF) 57.89
37 368 # M BwAR HE =8 (34F) 57.91
38 2 % H TR X JEM B =28 (3F) 57.95
38 41 & M g = JEME =28 (14) 57.95
40 318 # & A K JEME =28 (34) 58. 00
4 163 & M@ K B JEMATE =28 (3F) 58.33
42 14 % [ HH MK JEMATIIL =8 Q2F) 58. 41
43 230 # @ 7l FRNE JEMAES =8 QF) 58. 47
44 320 # & FEE KX JEME =28 (34) 58. 68
45 911 % | A &KX B4 BA 3 =% (35F) 58.75
46 748 &8 & WH BR BER =28 (34) 58.78
47 206 # @ BH M JEMMT =28 (3F) 58. 83
48 46 # & ] BE EMAE =28 05F) 58. 86
49 54 #% A e i SEMERR =8 (35F) 58.90
50 517 # & £k BIK BXK=8 =28 (14) 58.93
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50 553 %% M PN F Et =28 (24F) 58.93
52 252 % M SH AR EMGHE = vE:D) 59.01
53 769 ¥ BEH Kk B4R AL =28 (14) 59. 11
54 766 %% [ R B 4l v =2 Q2%F) 59. 32
55 821 # [ BB S B g =28 (35F) 59. 33
56 359 #H M g G BH =2 (4E) 59.34
56 720 #% M@ Hxk &KX ELXER =28 (14) 59. 34
58 768 %% [ wa &3 4l v =2 (4E) 59. 48
59 470 #H# m wWH 1K JEMEAE =28 (3F) 59. 54
60 580 %% [ ILIEHAER TH =2 (4E) 59.59
61 372 #H# M Hd 4t E =2 (24F) 59. 63
62 332 # M FEE HX RN =R (45F) 59. 84
63 47 FH M| N2 fRAE oo =28 ) 59. 85
64 508 % M@ il tHE BXK=E =2 Q2%F) 59. 92
65 730 # M B ED RS =28 3F) 59. 94
66 258 & @ #R TR EMGHE =R (045E) 1:00. 04
67 2 #% M X% KE JEWATIAL =2 (2%F) 1:00.12
68 138 #% M HH EH aZmir =R (045F) 1:00.19
69 880 #H# M JNKHRAER B3 @ =2 (14F) 1:00. 49
70 381 & ™ AH E2D) RN =R (045E) 1:00. 69
Al 216 &% M ED R EME =2 Q%) 1:00. 84
72 321 % M Wi fng P3N =1 3F) 1:00. 89
73 139 % M Nk BFR L2955 bl =2 (1) 1:01.00
74 696 # [ £ #X ELT =L =2 Q%) 1:01.18
75 513 % ™M B RE BX=g8 =28 (24F) 1:01.24
76 194 # Bm &3 RHABE =1 GHF) 1:01.32
77 867 % M #wK #3 BIR =28 (35F) 1:01. 47
78 511 & @ ¥H = BX=8 =R QE) 1:01.53
79 736 # M@ pAN 2 EH TP =28 (14) 1:01.57
80 315 % [ FHK EHE b= =R 05E) 1:01.82
80 841 & m #HRK X FEKEEAR =2 (4F) 1:01. 82
82 509 & @ % EAER BX=8 =R QE) 1:02. 00
83 3 B M E EHE SEMYBR =28 (24F) 1:02.12
84 5 FHF M INAGT B EWNTAL =R Q2E) 1:02. 14
84 293 #H M INGE TR o] = (345) 1:02.14
86 913 % M tE AKX #Ly° =R QE) 1:02.17
87 5 # @ =iE X4 SEMYBR =28 (24F) 1:02. 37
88 153 # M ERN K- RN T =1 GHF) 1:02.50
89 881 % M fEk K B4 M@ =2 (14F) 1:02. 51
90 389 # [ = g& SRR =R QHE) 1:02.70
91 918 # M B IS BX=8 =28 (14) 1:02. 77
92 61 # M@ FE RXK JENEERE =R 05E) 1:02. 89
93 % M| JR  IKEE JEMTHIL =2 Q2%F) 1:03.19
94 266 %% M BR EBEX LT =28 (148) 1:03.20
95 170 #% M EE FE P N} =2 Q2%F) 1:03. 26
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TFEHERSFFRKABRRBERS

EH AR

gENo. - 57 TF 100m Tk E B A LGRS
IyM)-%: 53
Z%No. ) -] K 4 [ B Eid
1 805 # @ X EX 1 R B ) =2 (14) 1:13.28
2 746 F M B N"HE BH =2 (4E) 1:15.52
3 802 # [ EE BE 1R B ) =2 2%F) 1:16.10
4 121 % H FE 2 BmE =2 (4E) 1:16. 30
5 577 %% [ Rl FE FER =28 (24F) 1:17.10
6 94 # M BEX "E EWNTAL =2 Q%F) 1:17.52
7 578 % [ MREFE RE =28 (24F) 1:17.58
8 803 # @ £ EF W B =2 (4E) 1:17. 68
9 186 %% M #wRK AHE JEAATE =2 (14) 1:17.85
10 435 %% M SREMWBAE i =2 (4E) 1:18.05
11 527 &% M =B E¥ BX=8 =2 (24F) 1:18. 38
12 26 ## m EH 5 EMBIE =R (45F) 1:18. 62
13 7138 % M@ ¥R Bx EHE R =28 ) 1:18. 63
14 343 % M HINZERE P3N =R (045F) 1:19.10
15 41 # H BE WmE EHE R =28 3F) 1:19. 14
16 526 & @ FHEFRE BX=8 =1 3F) 1:20.09
17 100 & & Fil BE JEWATIAL =2 (1) 1:20. 51
18 98 ## m INZBETF R IL = %) 1:20.59
19 526 & M Ee ER BX=8 =1 34F) 1:20.85
20 41 %% M| aR = i =R (045E) 1:21.13
21 % FH M =L BT JEMTIL =2 Q%) 1:21.79
22 280 & @ $]K  FTE Ped N =R (045F) 1:22.35
23 364 FH M XiE =1l KHF =2 (24F) 1:22.50
24 745 % @ #HARV&KY AR =R (045E) 1:22. 64
25 344 FH M Bl ¥F JEMER =28 (14) 1:23.35
26 183 # M L@ EZE JEHATE =R 05E) 1:23. 67
27 483 #H M TE BIK JEMNERAE =2 (4F) 1:24.30
28 339 # M =HF XM EME =1 GHF) 1:24. 42
29 813 & m BAVKY FEKE =28 (14) 1:24.63
30 179 % @@ BF EX JEHATE =R Q2E) 1:25.10
31 292 % M RBE B EMITIZE =2 (24F) 1:25.28
32 125 # @ ®EE =M ELXE=H =R QE) 1:25.83
33 243 & M Bk =X JEMAES =28 (24F) 1:26. 69
34 910 # @ XH BH¥ Rl E T =R Q2E) 1:27.07
35 122 % M@ EH XE ELER =28 (35F) 1:27.16
36 22 % M KiE £k EMBIE =R QE) 1:28. 36
37 346 FH M INK B JEMEE =28 (14) 1:28.99
38 663 & @ TRERE MeEE =R Q2E) 1:29. 87
39 724 % @ AR T8 ELXER =1 34F) 1:29. 88
40 674 %% M NEA #EMm EtHi =2 2%F) 1:30. 85
41 308 & A& R EME =1 34F) 1:32. 88
42 626 %% [ 1£8% fE HR =2 (145) 1:33. 46
43 828 & = ) B rh g =1 34F) 1:36. 61
44 446 & @ FEl EE BEXE =1 (3%F) 1:40. 88
45 886 & @ H BHE 1| =2 Q2%F) 1:44. 62
46 465 & @ NI STE E=IIRA =2 (145) 1:46. 05
47 461 # M £l =& BiIRE =1 34F) 1:48.14
48 847 #H# M INK EEB BKENE =1 (3%F) 1:48. T
49 384 FH M BX F&E E =2 (14F) 1:50. 53
50 861 %% M =2} 1 FHKTE =1 (3%F) 1:53.56
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#EHNo. © 57 ZF 100m ok E B A L RBE
IyM)-%: 53
& FxNo. fm B8 K 4 B R FCE%
51 701 2 2/ i ELX=Ed =2 (2%F) 1:57.43
52 463 #FF M AE =& EIRE B (2%F) 1:59. 67
53 543 & iz NE I FRI =2 (2%F) 2:06. 54
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EH AR

FEHNo. © 32 ZF 200m ok E B A L RBE
IyM)-%: 33
& FxNo. fm B8 K 4 B R FCE%

1 426 F KEFHERH AN it =21 (3F) 2:34.49

2 805 #F M X HEXK R F% R =k (145) 2:34.69

3 90 & M JE H 30 Fi 3 JEMATIL =21 (3F) 2:36.24

4 127 & [ Fik 2 BHE 2 (1) 2:39.96

5 746 & B #/E EdmkE] =2 (15F) 2:41.95

6 578 & ™M MREBHFE Fi =k %) 2:42. 61

7 803 & [ ki ER W raEEfE =2 (15F) 2:44.37

8 577 % ™M Fill FHE FH = %) 2:44.91

9 26 & M EH w5 EWRBAA =2 (15F) 2:45.65
10 525 %% A FHE FRE BHX=8 B2 (35F) 2:46. 62
1 343 B M HINZERE EWE =2 (1) 2:46. 84
12 738 # M 2R EBEx EdrkE] = (34) 2:47.70
13 94 & M B E EMTIIL = (24F) 2:48. 84
14 41 B m i S EaE = (35) 2:49.09
15 435 # [ AW E EA =2 (1) 2:49.20
16 745 & M| #wARVKY EdmkE] = (145) 2:50.24
17 441 B m BIR B EA =2 (1) 2:50. 91
18 186 & [ BERK BE Pl VNV = (145) 2:51.91
19 98 FF M INZBEF EMTIIL = (24F) 2:52.95
20 526 # A EE BN BHX=8 = (35) 2:54. 64
21 9% FF M = BT EMTIIL = (24F) 2:54.75
22 100 & & R BE JEMTIAL = (145) 2:58.25
23 725 & [ Rk =MW ELTER =21 (2%F) 3:02.20
24 179 & & Bf EX Pl VNV = %) 3:03.28
25 722 & M| &EH XF ELTER =12 (35F) 3:04.35
26 292 F M RE B EMIZE = 2%F) 3:06.18
27 22 F M KiE =X EWRBR =% (2%F) 3:07.90
28 124 & M AR FF ETER = (35) 3:15. 61
29 691 B BAR FK a8z =% (2%F) 3:22.29
30 849 & no  HHE FHKENE = 2%F) 3:24.80
31 308 EF A AE WA BHE =12 (35F) 3:29.56
32 465 # NI STE =IRE =2 (145) 3:36.38
33 845 F¢ A Ny BEX AKENE = (34F) 4:08. 38
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EEfNo. 0 55 TF 100m NETS5A B A LGRS
IvM)-%: 29
Z%No. ) -] K 4 [ B Eid
1 177 % [ NG N JEMNT =28 Q%) 1:04.13
2 799 # @ BE XE R F% R =2 Q8F) 1:04. 68
3 103 # s B/E JEMTIL =2 (145) 1:04.79
4 798 # HE FK EH W r B =2 Q2%F) 1:05. 38
5 802 # [ EE BE 19 R B ) =2 2%F) 1:05. 68
6 120 #% M M RE BmE =k (34F) 1:06. 17
7 24 &H M wBE BFE EMYBR =28 (14) 1:06. 50
8 128 & [ ABMEZE BmE =2 (4E) 1:06. 93
9 448 & @ K ZX Bz =28 (3F) 1:07. 11
10 804 # @ B K W B =2 (4E) 1:07.13
11 519 %% [ FE X£B BX=8 =28 ) 1:07.28
12 523 % [ HE B¥ BXK=E =1 3F) 1:07.36
13 865 # M L ERD EH =2 (2%F) 1:09.10
14 812 # @ EH OERE HKE =R (045F) 1:09. 93
15 693 # @ ABRER iz =2 (24F) 1:09. 98
16 521 % M ETHM 1 BXK=E =1 3F) 1:10. 39
17 175 & M@ FiE ¥ JEHAT =1 (3%F) 1:10. 66
18 142 % @ Y B aZmir =2 Q2%F) 1:10. 95
19 726 # M FEEH HEW ELTER =28 (14) 1:11.52
20 614 % M@ EE wWmE EITH =R (045E) 1:14.37
21 859 #H# M ]| HF el =2 (14F) 1:15.93
22 42 % M EHbHHI 1 i =R (045F) 1:22.13
23 66 # @ AB BT JEMERR =2 (24F) 1:23. 11
24 363 ## M BT H&E KBH =2 Q%) 1:23.73
25 433 % M EB BE i =28 (24F) 1:25.24
26 915 %% M FE =5 #Ly° =R 05E) 1:28.14
27 460 % M mH B BiIRE =28 (35F) 1:31.60
28 562 %% M BEH H# Et+ =R QE) 1:40. 44
29 845 & m My B FEKEAR = Q%) 1:40. 47
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FEHNo. © 28 ZF 200m NS4 B A L RBE
yM)-%: 14
& FxNo. fm B8 K 4 B R FCE%
1 804 & [ =i EK W raEEfE =2 (15F) 2:19.27
2 103 & [ s e EMTAL =k (145) 2:19.44
3 799 & ™M BE KB W raEEfE =2 (2%F) 2:22.16
4 120 & [ T IRE BHE =1 (34) 2:23.60
5 128 & [ ABHIMER BHE =2 (15F) 2:24.55
6 798  #% [ KX EH R F% T =k %) 2:25.69
7 448 E [ TR EBX B3 =21 (3F) 2:25.86
8 24 F M BE 2% EMYBIK 2 (1) 2:26.30
9 523 & [ HE BH¥E BX=8 =21 (3F) 2:29.73
10 519 %% M TE xB BHX=8 B2 (35F) 2:30.06
1 521 B m ETHM BX=8 =1 (3%F) 2:30.20
12 812 % M TH EH EKE = (145) 2:34.70
13 865 FF A Bl ERD EH = (24F) 2:46. 86
14 614 % EE BmE ELT R = (145) 2:48. 61
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EEfNo. - 45 TF 200m BAAFL— B A LGRS
IvM)-%: 26
Z%No. ) -] K 4 B A Elaf
1 9 # M EREFH R JEMTIL =28 (3F) 2:26. 40
2 661 & @ P4 Meae =28 ) 2:27.49
3 130 # M EH FIF sEme =28 (14) 2:27.96
4 9% # M HO BE EWNTAL =2 Q2%F) 2:28.25
5 430 # ™ MR E=x i =28 (35F) 2:31.07
6 743 # M B KiE A = vE:D) 2:32.34
7 341 & @ T =2 JEMVER =28 (24F) 2:33.66
8 342 & ™ RE BR RN = vE:D) 2:34.12
9 687 % M ZEREE THagE =28 (3F) 2:34.80
10 83 & Bff FE&E g ch g =28 (148) 2:35.38
11 761 % @ ®E -9 EHER =28 (14) 2:35.52
12 776 # M FE mED BERME =R (45F) 2:36.14
13 51" % M FE tiE JEME =2 Q%) 2:38.33
14 181 % @ #wy BEE JEHTE =2 Q2%F) 2:38.68
15 9 % @ &% EFE R B ) =28 3F) 2:39.32
16 890 ## M FH #Hx B =R (045E) 2:39.99
17 137 % @ F R RIS TR EHE R =28 ) 2:40.19
18 364 & @ XE E1 KH =2 Q2%F) 2:40. 23
19 852 & M WA BKENE =28 (14) 2:42. 87
20 44  FH M E@ ¥F RN =28 (14F) 2:43.17
21 405 #FH M FE EH JEMMER =28 (14) 2:45.32
22 382 # M BER #th E =2 Q%) 2:46. 61
23 910 # M X% A¥ Rl HE B 0Q2FE) 2:51.78
24 21 % @ £% ER ELrE=® =28 (3F) 3:18.37
25 365 & @ E £F KBHF =28 (14) 3:40.53
26 543 & @ il ) ERI =R Q2E) 4:19.20
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B 8No. o B K 4 R FE L8k
1 426 # [ JKEFHE BB EH = ) 5:03. 44
2 661 & & P RATE eAE = (36F) 5:07. 87
3 95 & @ FO BWE EATAL =% 2%F) 5:13.16
4 130 &% fE EH OFIF BHE = (14) 5:15.64
5 430 # BH Ex P = ) 5:19.05
6 43 # M| =1 S FHE R = QF) 5:21.54
7 137 # M| 55 R I5 1 B =% (34F) 5:31.85
8 852 # @ (1T -y 0} HKEEA R SE:S) 5:42. 46
9 66 FF FE AXH NHE PNl =% 2%F) 6:22.28
10 21 &% | £% ER ELE®R = (36F) 7:00.90
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BHNo. © 63 TF 4x100m Y=Yy L— B A LGRS
IVM-$ 26

Z%No. ) -] K % B A5 AR A Elaf
1 138 # M 3 R B ) =15 3:57.05
2 15 # @ Bmme =X 5 3:58.76
3 58 # M i =15 4:04.98
4 26 # M EHT =28 4:06. 40
5 13 # M@ JEMTHIL =15 4:09.53
6 103 # M@ BXK=E5 =X 5 4:12.11
7 1 & M EMBR =5 4:14.16
8 132 #% M RS =28 4:21.84
9 43 & M| JEMAER =5 4:23.19
10 154 & & 5 dm| =28 4:24.53
11 144 & [ BEER R =159 4:26.04
12 124 & & HiriAE = 4:27.19
13 21 #% M M = 4:30.09
14 3B #H M P N = 4:37.17
15 128 % M ELXER =159 4:39.03
16 7 % H ENE =15 4:43.16
17 31 &FH m EMT =15 4:44. 41
18 40 # H Pid N =15 4:44.96
19 48 # M BH =X 4:45.75
20 54 %% A JEMNHE =15 4:49.26
21 49 % H E =8 4:52.15
22 13 # & TH = 4:52.65
23 151 % [ BEE =X 5:01.34
24 108 & & EL =15 5:11.54
25 148 & & FEKEEA R =15 5:15.79
26 119 & B Etmar = 5:21.29
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gEHNo. © 1 TF 4x100m ARL—YL— B A LGRS
IyM-$ 22

Z%No. ) -] K % B A5 AR A Elaf
1 137 # 3 R B ) =15 4:23.09
2 18 # [ Bmme =X 5 4:23.85
3 12 # @ JEMTHIL =15 4:26.05
4 57 # M P =X 5 4:34.35
5 25 &FH m JEFATE =15 4:35.05
6 2 B M| JEMBA =X 5 4:39.33
7 100 # [ BR=E =5 4:40. 63
8 133 #% M e =X 5 4:43.83
9 4  EH HE JEMAER =5 4:49.28
10 123 & [ I8 =X 5 4:59. 04
11 127 & M@ ELTER =X 5:07.22
12 147 % HE BKENE = 5:08.77
13 34 #H M| ENE =159 5:09. 96
14 145 & & BEiEh g = 5:11.39
15 20 # M M = 5:14.33
16 45 % H R_H =15 5:15. 31
17 52 #% M PN T =159 5:18.07
18 152 # M@ BEE =% 5 5:40.55
19 M &% E TH = 5:40. 76
20 6 % M ENE =15 5:40. 84
21 121 &% & Eti =15 6:02.85
22 60 % [ EiIE = 6:26.74




